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QUESTION 1

Which of the following are features of RSVP-TE? Choose three answers.
A. It supports IGP-based LSPs.

B. It supports constrained path LSPs.

C. It does not support loose explicit path LSPs.

D. It is recommended for use in Traffic Engineering applications.

E. It cannot be used with facility backup fast reroute.

Correct Answer: ABD

QUESTION 2

Which of the following best describes downstream on demand label distribution?

A. An LSR answers requests for label mappings immediately, without waiting for a label mapping from the next-hop.
B. An LSR advertises label mappings to all peers for which it might be a next-hop for a given FEC.

C. An LSR distributes a label mapping for a FEC when it has been requested to do so.

D. An LSR propagates a label mapping downstream for a FEC. only if it has a label mapping for the FEC\\'s next-hop.

Correct Answer: C

QUESTION 3

Which of the following statements are true? Choose two answers
A. Selected labels from the FIB are populated to the LIB.

B. Selected labels from the LIB are populated to the LFIB.

C. Selected routes from the RIB are populated to the FIB.

D. Selected routes from the FIB are populated to the RIB.

E. All labels from the LIB are populated to the LFIB.

Correct Answer: BC

QUESTION 4

Which of the following regarding MPLS label value assignment is FALSE?
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A. Label values may be dynamically assigned by LDP.

B. Label values may be dynamically assigned by RSVP-TE.
C. Label values may be reserved for special uses.

D. Label values may be dynamically assigned by IGP.

Correct Answer: D

QUESTION 5

Which of the following is NOT an advantage of MPLS shortcuts for BGP traffic?
A. It makes use of MPLS resiliency features available within an AS.

B. It eliminates double route lookups on all routers within an AS.

C. It eliminates the need to run IGP on all routers within an AS.

D. It eliminates the need for an iBGP full mesh on all core routers.

Correct Answer: C
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